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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
1. Answer the following as directed: 1x7=7
ot PR were famt TpeR Sex fordt

(@@ Which of the following ions has
highest radii ?

©ETS Al SATPTRZA (PIRIER AP SIBIRe
Q@R ¢

F22+, C02+’ Ni2+, CL[2+
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(i) depends on Z and Z> 1
(b) What is ambidentate ligand ? Give one

ple Z3 9I® 63 I OIF 2> 1
example.
«fTeros e e «br Saigsd faa ' @iii) depends on Z and Z<1
(c) Oxide of is used as catalyst for Z3 ¢oi3e ¥ 3@ oI% Z< 1
facturing H,SO,.
et & F (iv)] Does not depend on Z
(Fill in the blank)
Z 3 873 {$q Fo@
I THZCT H,S0, ToAR IR
THE0S fRpItsl I T4 =] (e) What is the SI unit of viscosity ?
(3T 912 299 F9)

ATOR SI G732
(d) Choose the correct option :

() How covalent radii vary in a period ?
o7 Tl AR Sfre ¢
TG FPAE (AT 1 B S o 2

Dominance of strong repulsive forces
among the molecules of gases —
¢ (9) What is the effect of temperature on

IR SF TR Ol Rt Toq dror— viscosity of a liquid ?
(i) depends on Z and Z=1 OFH TR ev7e ToR F Aor 73 ?

Z 3 89g0 63 IR Oi% Z= 1
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2. Answer all question:

2x4=8

wer fraPTRe Te 1 ¢

(@)

(b)

(c)

3 (Sem-2/

Ionization energy of oxygen is less
than that of nitrogen. Explain.

SRETR SRS W& FiGremeE IA|
A S

What do you mean by ionization
isomerism in co-ordination complex?

Give one example.

TR AP (TN SRS Aol I
5 g <ot T

If the value of Van der Waal’s constant
“a@” for a gas is zero, can it be
liquified ? Justify your answer.

O TiY A 9 ‘? T @G G5 (TR
I@ W IE OO SAge IR o[
R ¢ I SRR
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(d) Find the Miller indices for a plane

(2a, -3b, -¢).

Ao (2a, -3b, ~c) T R i Rl
|

3. Answer any five of the following : 3x5=15
oo APTRE Rieele Sishg Sex fm e

(@) Define atomic radius. Discuss how

(b)

3 (Sem-2/CBCS) CHE HG/RC/G 5

atomic radius vary in periods and
groups of periodic table. Why atomic

radius of oxygen is less than that of
beryllium ? 1+1+1=3

RAIRE IR I @it 2 sRfvge wifre
T S 39S AR P MR TR
W A 1| ST ARNeRkRE e
QRfEmTets % (e

What are Latimer diagrams? What are
the characteristics of Latimer diagrams ?
1+2=3

@ioaR fog & ¢ @ﬂﬁﬂﬁiﬁ@ﬁ?ﬂﬁ%quﬁ$
e



(c)

(d)

(e)

Write the IUPAC names of the
following : 1x3=3

wete MAPRZ IUPAC Fi33¢t 3511 3
() Fe,[Fe(CN)],

@ [cum,),]so,

(i) [Pt (NH,)BrCl(ONO)|

At what temperature will He have the

same r.m.s. speed as H, molecules
have at 27°C?

I G3OrS He I r.m.s. Af¥w@st H, =97
27°C BOR r.m.s. AR TN =2

Assign reasons for the following
statements : 1%x2=3

were fral IR TR ool o

() The surface of a liquid behaves
as a stretched membrane.

O 7P B AR 2 wgae e 4
(R |
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(9)
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(i) Cooling is always caused during

evaporation.

ANeTR RS Areetiges 27 |
Describe a method of determining
viscosity. 3
Aol W T wfS @Bt N A

How many Bravais lattices are
available in orthorhombic system ?
Name them. 1+2=3

wdafie @ffe @20 @Sy (= iy e @
ATOIRE N 1|

. Answer any six of the following: 5x6=30
wers AT Rrerar 25T et 391 8

(@) What is diagonal relationship. What is

the basis of diagonal relationship?
Discuss this between lithium and
magnesium. 1+2+2=5

= 7w &0 3 e ofe & ¢ Bifdmw
e (WAl 3 el Rew o
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(b)

()

(d)

What is inertpair effect ? Discuss the
consequences of this effect? Explain
this effect in case of Pb and T1.

1+2+42=5

i 11 & & 2 TR sARaw a1 =or
TGN M| Pb W% TIF (Fao @3
Al 31 |

Explain the formation of [Ni (Ccw) WP
ion with the help of VBT. What will be

‘the magnetic moment of this complex ?

4+1=5
VBT S& 3TAS [Ni (CN), P~ 18 arm =1
G SIFTOR TR IS BlEneyr |

Discuss the

(i) Oxidation state and

(i) formation of colored
. complex
behaviour of transition elemelquts.
2V2x2=5
(i) T )Y =

) TS A W o g
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(e) Write notes on:

(9)
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2%4x2=5
S ol ¢
(i) Fullerenes
iR
(i) Jahn-Teller effect
-GN ASR

Calculate the CFSE of [Co (H,0),[".

Why CFSE of tetrahedral complexes is

less than that of octahedral complexes ?
3+2=5

[co (H,0)F* I CFSE™ ¥ Tfear

SRR (R e SeFedE (e
CFSE g a5 ?

Derive all the critical constants values
from the Van-der Waals equation. 5

O TR IR TR o TS &1 T
Tfensat |
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(h)

()

For an elementary reaction 24+B — 3C
write the rate laws. If the rate of
appearance of ‘C’ at time ‘¢ is

13x10*mol L 15! , then calculate

(i) rate of the reaction

(i) rate of the disappearance of A at
this time 1+2+2=5

@I GOt (MR RN 24+853¢c 3
AMER B! ikt | 3R ¢ s ¢ oy
M 13x10* mol LS wn (orm i3
TSR

() RiENGR MRome Bhear,
(i) A R aifewme i

Mention various methods for the
determination of the order of a

reaction. Write any two methods in
detail. 142405

SeEd T | R 751 otfs ez fray
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() A first order reactions is completed
~ 20% in 10 minutes. Calculate the

following : 5
@51 29w TR RIEFTT 20% 794 =ita 7w
=iest 10 5 | «foa oo fazt s stiw Rem
92

(i) the rate constant

oS 4T TN

(ii) The time taken for the reaction to
become 80% complete

R 80% A= e &5t w

(iti) The half-life period of the reaction.
RIS )
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